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l. The resistance temp€r-atue
cocfficicnt of an intrinsic
semiconductor is
(a) Positive

O) Negative
(c) 7so
(d) None of these

2. The energy gap between conduction
bad and valare band for thc
insulator is approximarcly
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Nob:

(i) tfinsoWtEir#nat dqort t

Afl Qustiow are compulsory ord erch qustbn is of I nu*
(ii) ci?Fmvr"ido,?.rlt'rf &Efrf drqfl qanfitrut t

Only hglish version is valid h case of diference in both tle loryuges

.

l. tq fu Er rftrt$ il*c Ttic,
_rimt r

(a) rFllffi'
O) prtffi
(c) rF
(d) F4*dtd
gqror * H traq ius qd d,frft ius
*nqwrtq<nmwryr *mt t

(a) leV
(c) IF

O) 5eV
(d) 0.7eV (a) leV

(c) Tano
O) 5eV
(d) 0.7eV

q6. p-yrfl{ i5r eC wem $rsr _
ftrt r

(a) q{(qs,sdfuir

6; rymurdftn
(c) frq-fr{Eqr#
(d) $rcrd6' rnlrqr ?nalt6, d

qqfrrprwFrdmr

3. A P-type semicondtctor as a wholc is
(a) Fositivcly charged

O) Negativcly charged
(c) ElectricallyNarral
(d) Positive or Negative depending

P.T.O.(1)

upon doping
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4. 5 dE frqir ft$re rq c,d tS +{r
sdssric({r{fu'Ednqrfr+
(a) 5 mV O) 50mV
(c) 5000 mV (d) .0.7 V

5. s+{+sr+s{ qqfraurYeilqtr
(a) r6[{Iggri6,gr+s
O) +fisr+s
(c) e+esr+s
(d) +trsr+s

6. qfuffi fiefrlc nffi Efqsr +
_fuqrsurcflq+flt r

(a) cB
o) cc
(c) CE
(d) E{d+6itr$

7. ttf+{e*ks{_Frdhtrfkt r

(a) tlt{t

61 *mr
(c) $n
16y sr{m{*+ttd

fiHer{ftsre sRrIco _
(a) !r+6, ro.c f,rccillq(gr+*fr

tr
6; ndm't "c rrer6iwgrffi ffi | 1

(c) ilqvrl*'smHccgftt r

(a) arqqsi*'ucHqqaftt r

{kerumatut{{frfist
(a) p=*

o) p=*
(c) p=*
(d) p=*

9.

(2) ?NI
4. To obtair 5V rcgulated output, the

zooer brcatdown voltage for zener
diode must be
(a) 5 mV
(c) 5000 mV

Which diode contains highest doping ?
(a) I.ED
O) Zener diode
(c) Tunnel diode
(d) Varactor diode

6. Highest input resistance is obtain in
confi guration of transistor.

(a) CB

o) c€
(c) cE
(d) None of thcsa

7. Bipolar lunction Transistor is a
controlled device.

(a) Cunent

O) Voltage
(c) Power
(d) None ofthe above

8. Io a trsnsistor the leakage cunent I"o
is
(a) Double for every l0'C rise in

tempefature.

O) Dorble for every I oC rise in
tEmperaftr€.

(c) Iocrease linearly with rise in
tory€ratue.

(d) Decrease linearly with fall in
t€mp€ratue.

Thc corrcct rplation
currcnt gaitr is

(a) P=*= o)

(c) P=* (d)

for tra$istor

p=*
^c6=-' l+(t

O) 50mV
(d) 0.7 v

9.
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lo. lrq {Frsqlr.fuc sfr Rfd{mar
tiltql{&ctqfriftttr+qfun
(a) qtr,q{q

o) wq,qss
(c) Inq, qtr
(d) sTq, q[

n. r1a {hr erqer { {frrs{ cB fuqrs
*cqil{k5_t r

(a) VBB, IB

O) vcr, IB
(c) Ve, Ic
(d) Vsr,L

12. dkercffrqq + k{HI Ei n!flfrrfi tr{+qfiqsr_t r

(a) p

O) Ico
(c) vsB
(d) srtfiq*

13. rt{ t qqcs EiFr€r Efttcfr qftfi
n*o*ftrtwgfrcfitt
(a) cff{a{
61 urde
(c) ir+,
1a1 ffia

14. fl+c ffitrT q{lr * 

- 

ERI qqr{
{qat r

(a) R-CEFrd
O) cs*r
(c) dl€ilfrTqro,
(d) EqrYilqr

ts. rer ttFrafrraYkrer-d*t r

(a) ?F
(b) Eq
(c) qr{q
(d) rd+sitqff

2051

When transistor is qerating u a

swirch, then biasiag of both junction
must be
(a) Forwar( Reversc

O) Reverse, Reverse
(c) Reverse, Forward
(d) ForwarG Forward

operating point for transistor in
modc with zero sigral (rcndition

vrB, Is
ve, Ie
vce'L
vse'L

(3)

10.

ll. The
CE
is
(a)

(b)

(c)

(d)

14.

The factor rhet alff€cts the stability of
transistor circuit is
(a) P
O) Ico
(c) vaB

(d) All of there

Which componcnt is not suitable for
transistor bias compensation
technique ?

(a) Thermister

O) Diode
(c) IDductor
(d) Sensistor

Thermal ruMway condition can be
avoided using
(a) R-C Filt€r

O) Amplifia
(c) Voltage rcgulator
(d) He*Sink

Input impedance of FET is
(a) [aw
O) Hisl
(c) Medium
(d) None ofthese

15.

P.T.O.
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16... JFET nrltrtqRft{ict
(a) p = Brra

(b) E-=lEa
(c) ra= P8,
(d) U=[e,fo

17. MoSFET+zffHf,l+'qHt
(a) c+s,+Ifu,fu
O) ts,d€{,na
(c) +{, q*e{, +{
(d) tu,+d,i{

18. +{ rmr + WHr ftrtant il q.+cq
udsdtt r

(a) 2

o)4
(c) 6

(d) I

19. E iq Wt nirr ftrwt a ftrqr
rftrdc *Rnr _ tS t , fv, =
fuctfrcq)
(a) 2Y-
o)
(c)

(d)

20. fr +€il f{'Jqocftw { ftfin y =
50sh 1O0t t, d ft.l-d fure Er qrc
Hrtcq_&II I

(a) l00v
o) 125 v
(c) l50V
(a) r,l]6v

vD

3vt
.Ev,

II
I

(4) 2051

16. The coroct relatioa for IFET
paramAers is

(a) F +E;ru

(b) gr= Frd

(c) ra = P8,

(d) p=\,[t

17. The narre of MOSFET tcrminals are

(a) anode, cathode, gate

O) Drah, collector, gate

(c) Basc, Emitter, source

(d) Gate, Source, Drain

lE. The minimum number of diode is
required for full wave bridge rcctifire
(a) 2

o)4
(c) 6

(d) I

19. Thc PIV of c€nter te full wave
rcctifier is (V. = Peak potentiat)

(a) 2Y^
(b) vm

(c) 3V,

(d) fv.
20. If input is v = 50 sin 100 t, then

output voltage of,
voltage trippler circuit will be

(a) l00V
o) l25v
(c) l50v
(d) \Fmv
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21. qft v" = (lot 2a'U, v, = 5v, I,-a

= 1to .e t co EA) qti kio = to .l
t d +r( ftf,r Frqrqr { enr {Fril
qricrAffirfuErcrc frnr
(a) lm0
o) 20oo
(c) 50O
(d) 75 O

22. ftElsrt + ft,til { a.c. d c[il 6i

-wtt 
r

(a) ftrqteftrdcfu{q
O) sfrf,r
(c) FTqf{

(d) Rmr

23. R-c HH qr{H qno'eP+r it +
ftRitFrhdcrqftmrqnrt r

(a) nftRis

6; {mRe
(c) R-cEIAsfrd+tr{
(d) p-s6qqq6{{ft6

m affi qrr*'uFfl d qqws'*.
w{reftmft qutm^rritt
(a) Rc<:T
o) Rc>>T
(c) RC=T
(d) RC = 2r

cfrq,t nt'r FTnyr tE qoqftmra ffr,tc
frfr1EnfiR aiq cr6c mqr tildl t d qr
_qftwt r

(a) ftaaffivrc'aFa
O) uaoefrcr<u.ufrr
(c) #o,
(d) dqc{

(, 2txil

If V. = (10 to 20 Y),Yr= 5V, I.d, =
(10 EA to 90 EA) and I-, = l0 mA

then approximate value of cunqrt
limitnng resistor for zener voltage
regulator circuit will be

(a) 100(l

o) 2000
(c) 50O
(d) 75A

The content of a.c. in the output of
rectifier is called as

(a) PIV
(b) Ripple

(c) Regulation

(d) Efficiency

2t.

23. The output is taken out across
of R-C low pass filter.
(a) Resistor

O) Capacitor

25.

(c) Series combination of R{
(d) Parallel combination of R-C

For high pass filter the conditioa for
differentiator is

(a) RC<<T
(b) Rc>>T
(c) RC =T
(d) 3g=27

For square wave input if a circuit
output is a triangular wave, then this
circuit may be a 

-
(a) Low frequency pass filter

O) Higb@uencypassfilter
(c) Clipper
(d) Clsoper

P.T.O.

a

u.

25.

22.
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26. frrd{h+mmsrdtr rnr
fri{Timrt I

(a) !F+si!ft*,
ol crdsqqtil<ncil.E
(c) E1fr{eto-+6
(d) sctffi$ft

27. +fr{rr ntq mFq qfffi {
qftqqrgm*art r

(a) srarnWuto
O) +{tsr+6#q,
(c) d$R
(d) vpB16{q'

28. qft rynaffi'qdqwfrqq Er ffi1 y =.
- l0 sin 5ft t d {s+ tT4n {k cr
*.S.m_drrr rFnrgr+s
qlqtlt)
(a) -20V
(b) -lov
(c) lOV
(d) 50v

29. u+s #o, qnsq fu r<ror qn{drrur

*'nc qlkdkrqilt r

(a) trdftnenrst*FFiir*ear

O) Fraftr-d*Fe"rs+t+k qm

(c) frrdtmqms.ift'ftrsRr
(O Frafuilfur€Frhdffir

lO. q6lfi E€q6'sr+st{ 6h qr qr{qds,
sg5r foqsnnrtr
(a) Si

O) Ge

(c) CdS

(d) GaPAs

zffit
26. lfu anpliude of a signal can be

cli@by
(a) Diodc ecrics clip,per

(b) Diodeshuntclipper

(c) Tlansistor clipper

(d) Allofthese

n. Staircase wave gcnef,ator is
employinc 

- 

circuit,

(a) Double side clipper

O) Zencrdiodeclipper

(c) Claoper

(d) JFETAmplifier

28. For a negative clamper circuit of
input is v = - l0 sin 50 t, then the DC
levol of ouput sigml will be
(Assume diode is ideal)

(a) -20V
o) -10v
(c) lOv
(d) 50v

29. 7fu transfer chsracteristics for diode
clipper circuit is plotted between

(a) Input cunent and ouqtut voltage

O) Input voltage and output currcnt

(c) Input cunrnt and <rrtput gurr€nt

(d) Input volage and output voltage

30. Which semiconductor is suiable for
constructing LED ?

(o) si

O) Ge

(c) CdS

(d) GaPAs

(o
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frqlfinqqq:*t€t
Tlnc alloved : Three Eoural

l. (r)

(ii)

(iii)

2. (r)

mt6
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Roll No : ......................

1aft*rridt:?o
lMarhmMerllsrT0

eb : O yoqcwqffit vtqd*nmtq b#Emc?ffi I

Ntu : Q*stion No. I is conpulsory, answer ary fivc que stiorc from thc remaining.

(it rdrrw #pql qil d rler qreivraefFtq I
Solve all parts of a qucstion consecutively togetlrcn

Oiil fldr-tf, 6lz* YeC'rne #qq t

Smn erch qwstion on a {resh Page.

Gi rhl cNMl# omrrii # fiv,t t qtfufr qerfr qa t t

Only English version is valid h case of differerce in bort rte btgmges.

(iv)

(v)

girr sr+s + oftanntmit wr ftfr t t
What is the soecial in thc characteristics of Tirntrel diode ?

fr€(imRi i'qir+ r m infi{i t r
What do you mcan by "Common" in transistc configuration ?

rFE'r q.i MoSFET i rti ct lr<fi ftifuq t

tr/rite anv two difrerences betwcen JFET aDd MOSFET.
roq qilr q r(ffi twt tEI ecqFr c vd t r
In which condition the inductance filta is used ?

stffitq,sqrcHrtr
(2xOWhat iB Photovoltaic efrect ?

*qcd q+s qt{qfr6,+ qcErsq+t r sTfuT qdqrf,s'q(ilccfirfirFfirqir
ftrtt
What do you meon by intrinsic aud extrinsic semiconductots ? What is thc effect
of temoerafire on extrineic semicoaductor ?

s6r{r ffi stts * 6rffi qd efttqlqnrfiIla} e} scw{+ r vs*'d* qn
EtrqFIqImqg I

Elplsin the worting and charactcristics of Light Emitting Diods. Also writo itg

any four applicuions. (+2'*2)

(ii)

P.T.O.

205 I

(7)
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3. (0 ?Ars+tssebqr+isrfl{i r

Explain the Arplification action of Transistor.

Gi) qftffidksr*''cr'rilqrr0.9gt,ds*frs.F'ge.t'uqrqrredffi |'
If value of 'o' for a ffinsisEor is 0,98, then calculate the value of 'p' and 'f
forit. (63+3)

4. (i) NPN fiks{ + rdfrs Ytrdo. krs iq frarft qq fr,ln qkflqftrf +i {{|'{n qd
sq${+ r

Draw and explain input a[d @tput characteristics of Common Emitrcr
configuration for NPN Transistor.

(ii) q#€Tdcg*I ordEq qfu{dxkrrrdo+tqqlti 
r

E:rplain the bias compensation technique using thermistor. G>@)

5. (i) ypET SErffi qd stfrHrHtrfi'EiqqaE+ r

Explain tle working and characteristics of JFET.
(ii) q5' N-+{d IFET it +ffi fur vcs(oD = - 4 de t avr riF' qRr IDss = 8mA t

ui ss-fr *cnr (v6s) = - 3 *e +H fuh qRr IDs Tr F{ rrd frlH+ I

An N+hannel JFET has cutoff voltage Vos(o' = - 4 Volt aod santration curr€nt
Ior, = 8mA, then calculate the output current 0nJ for gate to source voltage

(V6) =-3Volr (6,)

6. (r) Er+sodntrrlM+rftrtl**sw*mrsnrgi#ilWiociuildH r

Calculate the average cuflEnt ond ripple fartor of diodp half wave rectifier circuit
for resistive load.

(ii) #f,r+ qmqrwrritr rStiwkrrmwmrt r qqilrt r

What do you mean by ripple ? How it can be redrced ? Explai!. (3rrlr2eJ)

7. (i) n-C fuacrsfu@+tcrtc"ni*ftiqclrti r fusqflr{qr{qrwouqrr4fiilr
tr
Explain the working of R.-C low pass filter, In which conditioa it works as as
integrator ?

Gi) Er*s iuft rqrsade,ftturfundqi q<<ur ffimtrtqmri r

Explain the working and transfcr characteristics of Diode serips positive clip,p6circuit. (+&q
8. Hqq{dktaffiffiq' Fitqb

Write short notes on the following : (Any two)(r) qi-fi{clf,tr6cqhr
Stair case wave form gerrerattr

(ii) *.+.qsq.*. crtqr
D.C. and A.C. load line

(iii) +asr+E
PhotoDiode (6>4,)


